Calcular porcentajes de nimeros

Nombre: Fecha: Puntuacion:
6 x70% = 35 % 10% =
41 x 40% = 48 x20% =
68 x 60% = 68 %< 40% =
91 x 60% = 66 % 70% =
78 X 90% = 79 x 40% =
99 x 80% = 50 x20% =
80 x 60% = 79 x 60% =
26 x 10% = 77 % 30% =
64 x 80% = 44 x 40% =
48 < 90% = 98 < 20% =
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A SY S e

Calcular porcentajes de nimeros

Nombre:

6 x70% = 4.2

41 x40% = 16.4

68 %< 60% = 40.8

91 x 60% = 54.6

78 x 90% = 70.2

99 x 80% = 79.2

80 x 60% = 48

26 x 10% = 2.6

64 x 80% = 51.2

48 X 90% = 43.2

Fecha:

35 x10% = 3.5

48 x20% = 9.6

68 x 40% = 27.2

66 x 70% = 46.2

79 x40% = 31.6

50 x20% = 10

79 x 60% = 47.4

77 % 30% = 23.1

44 < 40% = 17.6

98 x 20% = 19.6
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Puntuacion:
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